L

w

Qlam_demul @i
(eflanaviii iguich
allemeuullen)
HanLublmin
(«ﬁsmm)qums‘u
afleanauudich)

sLem 6 fLienean
Glyrés efl HLianen
sLenatsaflLBlmng

Quoliu’ L Ggrens

17.  The following balancz were extracted from the

L&} .
31.3.84-6b
12,000 s_areflser 4,680

&/ = Qumiid L

9,000 syiEss 15,000

20,500 g/ = 31.3.84
8,750 aufllfien_&epsE 1,800

&l =
Qar@asiiu
18,950 Geaeyser 5,200

books of Vijay Shankar. You are require to
* prepare departma=ntal trading account and profit
and loss account fcr the year ended 31¢ Dezember
1989, after adjusiag the unrealised departmental

profit if any

Opening stock

Purchases
Sales

Departments
A. B.
Es. Rs.

50,000 40,000
650,000 9,10,000
10 00,000  15,00,000
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Partners agreed to dissolve the business and
realized the assets as below:

Book debts-Rs. 3,000; stock-Rs. 15,500;
furniture and fixtures-Rs. 8,000 suspense
Afe-Nil. A agreed to purchase the firm's good
will for Rs. 10,000. Sundry creditors were
given Rs. 8,200 infull settlement of their
debts. Land and building was revalued at
Rs. 13,000 and was taken over by B (with
debt). Realization expenses were Rs. 350,
Regargding bill discounted contingent liability
to the extent of Rs. 4,500 aroused. Person
who has accepted a bill for Rs. 500 has
become insolvent and a dividend of Re. 0.50
only received per rupee. Discounted and
dishonoured bill worth Rs. 500 has not so far
been recorded in the books. Prepare the
necessary accounts.

A, B wpgin C gperpGu 3:2:1 erenp el s Hle

QNLG®S ulrdmmiasar, 31.12.2008
Sieuis@ERamL 1L 8w GOl Weraumiomm
Qurgliusdr Glengg s .
UL Fleaih wommih
sLalECam 9,000 &g Lid 15,000
<B{L_LorTam upue suenmaflsar 4,000
&Lgn 7,000 sfse:
Quing LudELer
SEIEER 4,500 qzsd@m 200 3,800
(pse FrEdlmLLY 14,000
G S| DHaE 2,200
[T Tk
G enau
A 9,000 HSNOEE & (5 500
B 6.000 BT 5,000
c 5,000 20,000
40,500 40,500
T 2516



During the year certain, items were sold at
discount and these discounts were reflected
in the wvalues of sales shown above. The
items sold at discount were,

Deptt. A Deptt. B Deptt. C

Rs. Rs. Rs.
Sales at normal prices 10,000 3,000 1,000
Sales at actual prices 7,500 2,400 600

fignfl Bnoesgise =, @, whpb G
Qe GleopasdT  oarater.  Spsylul
srasafldimps  meop  snips  ellwruny

Wy eysanar sam(piSig.
oD gD, gen @)
5. . 5.
1.1.2000-6) sradaiiy 24,000 86,000 12,000
Qarerpgd 1,46,000 1,24,000 48,000

el Huanar 1,72,500 1,59,400 74,600
slpuenemi@ed oL el Hsin 20% 25% 331w

BLOY apemged  fe  Qun@lsdr  sdmenUi,
cilwanfley  eflpuemer  Qeiwtiuc L g [a)it:3

SHETiERLlY GuomGl smemes aflm L enemuiléy
Ayfluesims. BET(ERLIg ufleh emm
Glummerserreusr,

Slenpsar

= 2 8
(T5- {h- -
sngryen eflmandd sllhumer 10,000 3,000 1,00
e anenwwiner eflhuamen efleney 7,500 2,400 600
Or

4 2516

19.

R, S and T are partners sharing profit and losses
in the ratio of 3:2:1, Their balance sheet as on
31.03.2009 was as follows:

Liabilities Amount Rs. Assets  Amount Rs,
Bills Cash in hand 1,500
payable 64,000Cash at bank 2,655,000
Sundry Bills receivable 54,000
creditors 1,25,000Book debts 1,78,000
Capital Stock 2,23,000
accounts Furniture 36,000
R 4,00,000 Machinery 97,600
5 2,50,000 Building 2,40,000
T 2,00,000 8,50,000
Profit and
loss Afe 45,000

10,84,000 10,84,000

R retives from the firm on 01.04.2009. Assets are
revalued in the following manner and his share in
the firm was calculated stock Rs. 2,00,000,
furniture Rs. 30,000; machinery Rs. 90,000;
building Rs. 2,00,000; Rs. 8,500 it to be alloted for
reserve for doubtful debts. Firm's goodwill is to be
valued at Rs. 60,000, Rs. 1,10,500 will be given to
R at the time of leaving the firm. Then the
remaining amount will be given to him in three
equal instalments at 3% rate of interest p.a.

Prepare revaluation A/e, R's capital Ale and
R's Loan Ale (Upto settlement).

13 2516
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18.

Bogens@égore Aurg GsmaEsr e 1,25,000

g (HHE BEelRSETTEl6T:

(=) gionp A-eir s Wiy m. 100,000, @
. 20,000 g B-eflmps aupsgin o rkign
A-an L dsellenaoublas

(=) geop B-ain sen_wlmiy g5 = 00,000, Gdle
. 30,000 gieop A-cSmhs aufsgin SiLkED,
B-ann =y_éa efenquuf ey

(®) Gsr_ssmliuner siomp A5 B-ullgpin
apanGuw . 10,000 whHpbd . 15,000 wop
gionpaaflalimis o darg. oipdr dlow Aupb
gienpsailan 2jsseilenandld @)@

(/) @omEs erut eréar <268 (S GLD FOLOMELD.,

Bangalore motor service buys a -notor car on

instalment system from Hind Mators Ltd. On

1.1.2000 which payment is to be made on

December 31 for 4 years @ Rs, 50,000 p.a. intevest

being caleulated at 5% p.a. The cash price of the

car was Rs. 1,77,300. Depreciate thz car at 10%

p.a. on diminishing balance method. Prepare

necessary ledger accounts in the heoks of both the

parties.

Guris@st  Gomiort  Greneu  flpeend aublb|

Gomint  sbuellebigps  @n  wdopos

1.1.2000-586 sauanan penmufe aurEsdlug;. 2ishE

b 31-6 . 50,000 efsib preme —arBaEsie

Crgiss Cauem@n 5%  auiy S UL B ).

whpigler Anrés alleves . 1,77,300 @onhs G

wffle  10%  Gauiomenh semddE G @meufen

giggub Gamauwnar CLGT.{ sarsgsmer gwinflas.

12 2516

13.

14,

(b)

(a)

()

(a)

What is the need for departmental
accounting?

gln sendler Gaeney eramen?

What are the rights of hire vendor?

aTies  Garatapsd  apenuda  eApLeufan
o flenioser wWrenau?

Or
On 1.1.2008 X bought some trucks under
hite-purchase system for Rs. 51,000 payable
by three equal instalments combining
principle and interest, the latter being a
normal rate of Rs. 5% per annum. Calculate
tha cash price. (The present value of an
annuity of one rupee for three years at 5% is
Re. 2.72325),
01 1.2008 wsyeirgy curm_anes Gardrapsmea apanpulc
X eremueuir fa SITEE uTSanisEenaT a. 51,000
@ penn  sllurer  seueawsatlen P
Slig L6t GsnEliugmseb, oy Gy 5%
SpFeyb eundigdElmnit Armss eflma s SRy,
(BoGundlu  wALSer Ly Clomdgsle
(HUmuSen ppemmy e gld 5%-cr (. 2.72325).
A and B are the partners sharing profit and
losses in the ratio of 3 : 2. C is admitted into
the partnership, A gave 1/5' of his share and
B gave 2/5t of his share to C. Calculate new
ratio,
A-ib B-b g ent’Lneimenoudlen nt’ L rafaar 3:2
aern dlfssdler wrubms Likig eneudElmmiaer,
C-g &l Lrameninilia Garrsg Gandrdlpri. A gen
vidledlmihe 1/5 - & qm ukesun B e
vl 2/5 @ urilenah,  C-dgg
aphigdpriaedr. Lfu e U@ el flnsms
e (Hikly..

Or
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“

Prepare a statement showing how the distribution
of cash has been made under maximum loss
method.

X, Y, Z gpaummid sl Lneimenwowlen snlmefiser, ey
plrgens 32l aenm  Adssdd  wepmGu
udlifprisar, 31.12.20096) ieufrsafler @)Ly Elena
Gereumonn:  SIBBTENS  elfsdT s LrETE®D
smaiy) Geldlonisdr

Glumminy . AELET 5.
ubLe 10,000 Grésis 1,20,000
sLannGgmr
(pse: Liue derga) 10,000
X 45,000
B 45,000
X 30,000 e ik

1,30,000 1,580,000

Bl Lamenlo  soassLl(  Gsnsgisser SBipemenr_
gauenenuiles LsnToTADE :
by Eray sl

(Th.
I 15,000
II 22,600
111 37,500

Sifls uls @iy apepudle  Qprésn  ereueumy
uélipsaflas L@ g eraums amem,

16 2516

NOVEMBER/DECEMBER 2019

BCM21 — FINANCIAL ACCOUNTING — II

Time : Three hours

Maximum : 76 marks

SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.
Define the term debtor system.
sLaalsar (e eTemD LsSens cUanijiLig).

Mention the ledger account opened under stock
and debtors system by head office.

sr&@ wHmb s_ardflsa popld gemslu@n
GuGrL (G sams@saner @sflad.

What do you mean by direct expenses?
Gy Gaeeyser LnH Fallit oiflaus erene?
What is stock reserve?

By S erenmmed eTemen?

Who is an hire vendor?

UM &EE 6HlHUGT eTemLIGT WP

2516



Eipemamin saa @G Glaessnred sarad (o,

B Gl ; 30 —40 40 — 50 50 - 60 60 =70
Sianayievsin ; 15 13 8 6
i ACGe ; T0-80  80-90 90— 100
Senaila : 15 7 6
13. (a) Calculate Quartile deviation and its

(b)

co —efficient from the following data :
X 26 28 3% 35 29 34
AT I T [ S
Heneumid gaasmsefalimba srawra ellwssn
WOGLD SigenienL L Daipena semidHe.
X.26 28 .32 385 29 24
¥ 0o seTER B
COr
Calculate  Mean
following :

X » 100 .11 12 13 14
Yol s e s

deviation from  the

i

Glemaugmd  ysiaf R ] .scr;mrrﬁ
sl G adhen s SremTs.
P o B R R

B IR B [

4 2506

14.

16.

(a) Find Karl pearson measure of skewness :
Wage ¢ 12 156 20 25 30 40 80
Workers 10 25 40 70 32 13 10

ariren Whwiean Garl g Quy srems.

snadl ;12 15 2061 26 30 40 50

10 25 40 70 32 13 10

Or -
(b) Explain the characteristics of Kurtosis.

@amflamart

Slani e e Slewimsenar eflaul.

(a) State any five advantages of statistical
quality control.

Ljamerflulied HTE
[BEHEDLDSHENET & L),
Or

(b)  BExplain the role of acceptance sampling.

SLELILIT g 60 mEE

pnd Geraemiul e mQ@pGHoder Lkig Lo
el
SECTION C — (3 % 10 = 30 marks)

Answer any THREE questions.

Explain the different methods to be used to collect
primary data.

pa®  Heow  ssad  GeafllushEl  Lwen
u@ssILLCeuamg L b Eay apermaaner ellars s,

5 2506



16.

gal L el e | remTanioani HEME) G
Smorefllsm  Qendgidsmar  Ehseamieun
Liemmong @S pritser. uhue sLenraflssr oy, 3,000;
srsflmiy @ 15500, simpsedr  womh
prLLOLC L e o 3,000, siemnsg serss
genpildme; sl rarmnular sotluuemy A
@-10.000 arigeusts sbwdsdprr. U
sLaippalisEntE . 8,200 GarDss senss
(puse  eausaLLBHDg. Fagphd slgeapn
. 13,000 gmsE nmudibh belg wes B
er(Diaids Damardlnm (s aar Geihs)) senaliL
Qeaveysar @p. 350, Qupsp@ilu wrHhm &6
el Gebgda  Besuopn  Guogly
5. 4,500-1h simigib, =iflé m. 500 wdliysrer
am GugspEilu wrpry £ gy Hsrsibn_eui
Slararflugrd seumeaniw  Gergddlmbs
epumigg 50 sreser aisn w GG fol G5
gemerUly.  Gelwiule  whmn  bpSsiuLL
(Hpuugy i’ L) g 500 wéllyerar wrmm
L @eangpih semsdle erhss Qorarareilaemen
Gaeneuimen SenmdEasaner Swim e,
SECTION C — (3 % 10 = 30 marks)
Answer any THREE questions.
Nanak of Bombay has a branch at Delhi. Good are
invoiced to the branch at cost plus 20 per cent.
The expenses of the Branch are paid from Bombay
and the branch keeps a sales journal and the
debtor's ledger only. From the information
supplied by the branch prepare trading and profit
and loss account of the branch for the year ending
315t March, 1984 and to show the account of the
branch as it would appear in the books of the head
office:

8 2516

Rs. Rs.
Opening stock Suadry debtors

(at invoice price) 12,000 o 1% Mar 1984 4,580

Closir.g stock Coads ~eceived
(at invoice price) 9,000 from H.O 15,000
Credit sales 20,500 Zonds -n transit
Cash sales 8,750 from H=ad Office
i Receipps from or 31+ March, 1984 1,800
debtors 18,950 Zxaenses paid
by HO 5,200

umbGL pIBEESE GLdsSda qm damar o des),
HenarasE QuinmLaer e dselmawer 20% sfsans
Gofga)  Seluiu@aps.  deafsr  Cseeser
SnaBFID geneens <= ayziceld Gogsadng whmnb
flenar  efpuerar @laniwid LoD Soameilser
GLGrleniuyd  wL@EL  _rroféfpg.  Severufear
srUuUlL  grasaiadlmbs  31.3.84-0 pigeusni b
oyama e GITLTT PR i Bl SanT&endin
WG HEnELn SigleunE Tk dmars samsasLb
s Qalis

9 2516



10.

1.

What is partial repossession?

LGS wmsLsiLGHEsEH eremre ereten?

What is sacrificing ratio?

Sursih Aeiig eS8 sin erampid erenar?

What is interest on drawings?

ety Bgrar aulig. eremmmed areman?

What is proportionale ;:apital method?

e eBlfgrssTy Wenm eranpred eramen?

What is compulsory dissolution?

SLLITW GenalIL TenmTe) eramen?
SECTION B — (5 x 5 = 25 marks)

Answer ALL questions.

(a) Chenai Head Office invoices goods to
Mumbai branch at cost plus 331%. Prepare

branch  account from the
information:
Rs.
Goods invoiced to branch at cost 30,000
Cash sent to branch for expenses 5,100
Cash sales Rs. 25,200; credit sales 9,300
Cash collected from debtors 7,100

Bad debts Rs. 200
Closing stock at branch (invoice price) 5,200

2 2516

following

wAOALUGApy. R gus  QupibCurs
@ 110500 Qen@isiv@dpg. B8 Gsres
ey swwran geiaansalld 3% oyem@ el
samsS[H cuprissiiL HEms

WwYLAUELR sande, R-ér opse sanie wpmb
Redr sian samsenz putiésapn. (Gks &/ @
Gy aoLbss)

20. X, Y and Z are partners in a firm, who are sharing
profits and losses in the proportions of 8:2:1

respe
on 3

ctively. The followirg is the balance sheet as
1.12.2009. On that date they decided to

dissolve the partnership

Liabilities Bs. Assets - Rs.
Sundry 10.00C Cash 1,20,000
creditors
Capital: Sundry assets 10,000
X 45,000
X 45,000
X 30,000

130,000 _1,30,000
The firm is dissolved and the realization of assets
were as follows:

Realization  Amount Realized
Rs.
I 15,000
11 22,500
11 37,500

ib 2516



(®)

15. (a)

(®)

Laabilities

Sundry
creditors
Loan an
mortage
General
reserve
Capital
accounts:

A
B
c

A and B share profit in the vatio of 3 : 2
entering into partnership with 1/10% share of
profit. Calculate the sacrificing ratio and the
new ratio.

A-b B-upb 3:2 eflflssH sat memennien
QUGS LiniE eausdpmiser. 1/10-unigL e 'C'
el Lnanewouid GCemdprr. Surs eissesub
Ll e el d sdensi i seir@id,.

Differentiate fixed capital method and
fluctuating capital method.

Hevwwnear apsd apapeniid LIgL  Apse
gpenman i CaumuBEs.

Or

A, B and C are partners sharing profits in
the ratio of 3:2:1, Their balance sheet as on
31.12.2008 was as follows:

Amount Assets Amount
Rs. Rs.
Land and
9,000 buildings 15,000
Sundry debtors 4,000
7,000 Less:
provisions
4,500 for bad debts 200 4,800
Stock 14,000
Furniture and 2,200
fixtures
9,000 Suspense Alc 500
6,000 Good will 6,000
5,000 20,000
40,600 40,600

6 2516

General expenses incurred for both the
departmental were Rs. 1,25,000 and you are also
supplied with the following information,

(a) Using stock department A Rs. 1,00,000
including goods from department B for
Rs. 20,000 at cost to department A.

(b)  Closing stock of department B. Rs. 2,00,000
including goods from department A for
Rs. 30,000 at cost to department B,

() Opening stock of department A and
department B includes goods of the value of
Rs. 10,000 and Rs. 15,000 taken from
department B and department A respectively
at cost to transferred departments

(d) The gross profit is uniform from year to year.
SPETULLL g eflgl siisflen oy almbs erGssu L
Bmiyser, 1889, webui 31 6 qpiyaieni it ey an
eflumuny @ru bl seréams, senpsesidadare
FLLITE 0mUSans Filel g swmfliseb.

FIEDEET
. 25,
- -
G sl 50,000 40,000
Qanerapge 6,50,000  9,10,000
eflpLienan 10,00,000 15,00,000
11 2516



R, 8 wpmid T 3:2:1 ereinp sl ElssEle @b L s Gzeranen genavenin wigyeuestd (pibanLi dlenamdg

LIk EeneusELd aalLmaflaer. 31.03.2009-é QurpLasener =iLds 6l i ar 33L%. Goiigs
SlauisEsaLw @ GuL Hame @lvy) Geremory Sigiydlpg.  Spsriul Lapflemis  Heer
Gyl ser {15 Qg dsar 5. samhas SWUNlésean
Qeadssna Qprésn 1,500 -
e i . A 5o dlenarse sgndu Qun@lser oisseillenanda 30,000
w/§ P00 qur i sy ¥ "'_ dlaperds GlraaibE sigyiiuiud L uesrd 5,100
uhLe GumpiEhu w/§ 54,000 Cynés aflpuenan gn. 25,200; sLen ofljLianan 9,300
sLeRGCEN 1,26,000 g1 emrafiaser 1,78,000 samaflsefl_ullmbs GupiLe L Qpréeth 7,100
| g iEan auprasLar g, 200
ELLy sradEoy s Bus srsfmiy Saade (@i ddmald) 5,200
ﬁm'réi@ S D EEET 85,000, o
r
R 4,00,000 WS 97,500
8 Iﬁﬁ?’ (b) How do you prepare combined final accounts
8 250,000 HLigl LD #4000 of head office and its branch?
T 2,00,000 8,50,000 R damanbs B dldmemss BENenLn
SO L DiglaassasEh SmasEn, aeung  sum
me’s@ 45,000 @&u‘.lﬂ.ll'l’ll‘.l'? .
10,84,000 10.84,000 12. (a) Girdhari Limited has three departments A,
01.04.2009-6 R giisey Quadipri. Gemisgémener B and C. From the particulars] given below
Bpsar aifle LAUSH Qs sl compute the departmental trading results.
kg EmonaflistuBEns: If R]’3 R(i
il ! . 4 8. 8. :
s7sAGUY @ 2.00.000; Simpswdr @, 30,000; Stock ason 1 Jan. 2000 24,000 36,000 12,000
Quidrd @ 90.000; slyib . 2.00,000; Purchases 1,46,000 1,24,000 48,000
®. 8500  guis.gisrer  gzéEG Actual sales 1,72,500 1,59,400 74,600

@l Lnamennuilar pHEUWE 5. 60,000 erar G.P on normal rolling prices ~ 20% 25%  331%
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